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The way society is organised around the regulated ways people interrelate and organise social

life 1s known as ....in sociology

. Social Processes
. Social Structure
3. Social Mobility
4. Social Interaction

| S ]
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68019150801. 1
68019150802. 2
68019150803. 3

68019150804. 4

Question Number : 1 Question Id : 68019112876 Question Type : MCQ Option Shuffling : No Is
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Options :

68019150801. 1
68019150802. 2
68019150803. 3

68019150804. 4

Question Number : 2 Question Id : 68019112877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who introduced the concept of positivism to sociology?

1. Arnistotle

2. Auguste Comte
3. George Ritzer
4. Karl Marx

Options:

68019150805. 1
68019150806. 2
68019150807. 3

68019150808. 4

Question Number : 2 Question Id : 68019112877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



TSI H Udedig & SayURuN &1 g U fear ur 2

I Wt L)
. T DI
Silel Reor
4. T I

Options :

faa o —

68019150805. 1
68019150806. 2
68019150807. 3

68019150808. 4

Question Number : 3 Question Id : 68019112878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Social Conflict Model. ....1s the way in which changes occur n a society.

. Redefining the situation

. Promoting symbolic interactions
. Revolutions

4, Implement tight legal measures
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Options:

68019150809. 1
68019150810. 2
68019150811. 3
68019150812. 4

Question Number : 3 Question Id : 68019112878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68019150809. 1
68019150810. 2
68019150811. 3
68019150812. 4

Question Number : 4 Question Id : 68019112879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following sociological developments in a chronological order (oldest to the recent)
(A) Social Conflict Theory

(B) Positrvism

(C) Multicultural Perspective

(D) Structural Functionalism

Choose the correct answer from the options given below:

L. (A).(B). (C). (D).

2. (A).(C). (B). (D).

3. (B). (A). (D). (C).

4. (D). (B). (A). (C).
Options :

68019150813. 1
68019150814. 2
68019150815. 3
68019150816. 4

Question Number : 4 Question Id : 68019112879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
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Options:

68019150813. 1
68019150814. 2
68019150815. 3

68019150816. 4

Question Number : 5 Question Id : 68019112880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A group 1s characterised by the following features

(A) Interact regulary / Often

(B) Have some shared mterest

(C) Develop some sense of belongingness

(D) Always live in same geographical area

Choose the correct answer trom the options given below:

1. (A). (B) and (C) only.
2. (A). (B) and (D) only:.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019150817. 1
68019150818. 2
68019150819. 3

68019150820. 4



Question Number : 5 Question Id : 68019112880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019150817. 1
68019150818. 2
68019150819. 3
68019150820. 4

Question Number : 6 Question Id : 68019112881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
(Concept) (Explanantion)

The changes that follow an orderly
A |Growth 1. |sequence and are largely dictated by the
genetic blueprint

Increase in the size of the bodv parts of

B. |Development | IL i
the organism

The process by which individual grows
and changes throughout the life cycle

C. |Evolution I11.

Species specific changes over a long

D. |[Maturation IV, ; ol
period of time

Choose the correct answer from the options given below:

. (A) - (1), (B) - (1), (C) - (II1), (D) - (IV)
(A) - (II). (B) - (IIT). (C) - (IV). (D) - (I)
(A) - (I). (B) - (ID). (C) - (IV). (D) - (III)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

b

L)

Options :

68019150821. 1
68019150822. 2
68019150823. 3
68019150824. 4

Question Number : 6 Question Id : 68019112881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Choose the correet answer from the options given below:

1), (B) - (IL), (C) - (IV), (D) (111

). V)
I)( ) (HI) (C) - ( ( ) (I)
) )
A) - (). (B) - (IV). (C) - (I). (D) - (IT)

68019150821. 1
68019150822. 2
68019150823. 3

68019150824. 4

Question Number : 7 Question Id : 68019112882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Psychology. ..... refers to reacting to another person's feelings with an emotional response that
18 similar to the own feelings.

1. Sympathy
2. Empathy
3. Coping

4. Reassuring

Options :

68019150825. 1
68019150826. 2
68019150827. 3

68019150828. 4



Question Number : 7 Question Id : 68019112882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019150825. 1
68019150826. 2
68019150827. 3

68019150828. 4

Question Number : 8 Question Id : 68019112883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
{(Explanation) (Concept/ Theory)
An overgeneralised and unvenfied
prototype about a particular group.

L. |Psvchotherapy

The use of any psvchological techmque
B. |in the treatment of mental’ psvchological | II. |Sterotype
disorder or maladjustment

A therapy in which the underlying
assumption is that people have control I Humanistic

over their behaviour, can make choices Therapy
about their lives

A relatively persistent and consistent
D. |behaviour pattern manifested in a wide | IV. |Trait
range of circumstances.

Choose the correct answer from the options given below:

L.(A)-(I). (B) - (II). (C) - (IV). (D) - (1II)
2. (A) - (D), (B) - (I1I), (C) - (II), (D) - (IV)

3.(A) - (I). (B) - (I). (C) - (IIT). (D) - (IV)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (I)
Options :

68019150829. 1
68019150830. 2
68019150831. 3
68019150832. 4

Question Number : 8 Question Id : 68019112883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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L. (A) - (I). (B) - (II). (C) - (IV). (D) - (III)
2. (A) - (I). (B) - (). (C) - (II). (D) - (IV)
3.(A)-(II). (B) - (I). (C) - (III). (D) - (IV)
4. (A) - (IT). (B) - (AV). (C) - (I). (D) - (II)

Options :

68019150829. 1
68019150830. 2
68019150831. 3

68019150832. 4

Question Number : 9 Question Id : 68019112884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sigmund Freud proposed three parts of personality as

1. Id-Ego-Superego

2. Subconscious-Unconscious-Conscious
. Introvert-Extrovert-complex

4, Emotional-cognitive-affective

L]

Options :
68019150833. 1

68019150834. 2



68019150835. 3
68019150836. 4

Question Number : 9 Question Id : 68019112884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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68019150833. 1
68019150834. 2
68019150835. 3

68019150836. 4

Question Number : 10 Question Id : 68019112885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following statements and select the correct options

(A). Proteins are made of amino acids.

(B).Essential amino acids are those which the body can not synthesise in the required amounts
(C). Mid Day Meal Programme of Government of India exclusively targets beggars . street
vendors efe.

(D).ICDS scheme of Government of India predominatly supports the nutritional requirement of
0-6 years children in the country.

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2.(B). (C) and (D) only.
3. (A). (B). (C) and (D).
4. (A) and (B) only.

— — — —

Options :

68019150837. 1



68019150838. 2
68019150839. 3

68019150840. 4

Question Number : 10 Question Id : 68019112885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019150837. 1
68019150838. 2
68019150839. 3
68019150840. 4

Question Number : 11 Question Id : 68019112886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The National Nutrition Policy was announced i ....and improving the purchasing power or the
urban and rural poor was mentioned as an......

1. 1993, Indirect policy mstrument
2. 1998, Indirect policy mstrument
3. 1993, Direct short term intervention
4. 1978. Direct short term intervention

Options :

68019150841. 1
68019150842. 2
68019150843. 3

68019150844. 4

Question Number : 11 Question Id : 68019112886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68019150841. 1
68019150842. 2
68019150843. 3
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Question Number : 12 Question Id : 68019112887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following designs with respect to hypothesis test/ cause-effect relationship (least to
highest).

(A).Experimental designs

(B).Exploratory qualitative designs

(C).Longitudinal designs

(D).Cross sectional quantitiative designs

Choose the correet answer from the options given below:

Options :

68019150845. 1
68019150846. 2
68019150847. 3

68019150848. 4

Question Number : 12 Question Id : 68019112887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019150845. 1
68019150846. 2
68019150847. 3

68019150848. 4



Question Number : 13 Question Id : 68019112888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following 1s NOT a limitation of experimental designs?

. Ethical 1ssues with the participants

. Small sample size

. Non-represenatative nature of the sample
4. The ability to replicate the findings

o -d =

Options :

68019150849. 1
68019150850. 2
68019150851. 3
68019150852. 4

Question Number : 13 Question Id : 68019112888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019150849. 1
68019150850. 2
68019150851. 3

68019150852. 4

Question Number : 14 Question Id : 68019112889 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

...... in Which the researcher studies an intact cultural group in a natural setting over a prolonged
period of time by collecting, primarily. observational data.

1. Phenomenological Research
2. Experimental Research

3. Ethnography

4. Grounded Approach

Options :

68019150853. 1
68019150854. 2
68019150855. 3
68019150856. 4

Question Number : 14 Question Id : 68019112889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019150853. 1
68019150854. 2
68019150855. 3

68019150856. 4

Question Number : 15 Question Id : 68019112890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps in a qualitative research m the order of its oceurance (first to last)
(A).Develop rapport with the community

(B). Identify the problem

(C).Data analysis and report writing

(D).Participant observation

Choose the cerrect answer from the options given below:

Options :

68019150857. 1
68019150858. 2
68019150859. 3
68019150860. 4

Question Number : 15 Question Id : 68019112890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019150857. 1
68019150858. 2
68019150859. 3

68019150860. 4



Question Number : 16 Question Id : 68019112891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

............ i1 an example of critical collaborative ethnography in which researchers conduct field
research. but community participants are collaborators in the process, so as to develop practical
solutions to the problem.

1. Ethnography

2. Participatory Action Research
3. Social Constructivist Research
4. Phenomenological Research

Options :

68019150861. 1
68019150862. 2
68019150863. 3

68019150864. 4

Question Number : 16 Question Id : 68019112891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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68019150861. 1
68019150862. 2
68019150863. 3
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Question Number : 17 Question Id : 68019112892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following events in chronological order (oldest to the recent)
(A) Chadwick Sanitary Reforms

(B) Sustainable Development Goals

(C) Alma Ata Declaration

(D) Millennium Development Goals

Choose the correct answer from the options given below:

.(B). (C). (D). (A).
(A). (C). (D). (B)
.(B). (A). (D). (C).
.(C). (B). (D). (A).

|

e g

Options:

68019150865. 1
68019150866. 2
68019150867. 3

68019150868. 4

Question Number : 17 Question Id : 68019112892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (B). (C).
2. (A). (C),
).

(A)
(B)
(C)
(A)

(D).
(D).
3.(B). (A). (D).
4.(C). (B). (D).

Options :
68019150865. 1
68019150866. 2



68019150867. 3
68019150868. 4

Question Number : 18 Question Id : 68019112893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The unique features of public health are ....
(A). Focus on population

(B). Orgamised community effort

(C). Inputs are drawn from different disciplines
(D). Evidence based approach

. (A). (B) and (D) only.
. (A). and (C) only.

. (A). (B). (C) and (D).
. (B). (C) and (D) only.

aad bd =

=y

Options:

68019150869. 1
68019150870. 2
68019150871. 3
68019150872. 4

Question Number : 18 Question Id : 68019112893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hraoii-1e Wl 3t 3! fagvamn Faffed d aw=ng 2
(A) SIS R A S

(B) TISd ATHEIAS WO

(c) v fafia fawal § fow o ©

(D) T1&T ey e

1. %ad (A), (B) 3R (D)
2.%ad (A), 3R (C)

3. (A). (B). (C)3IR (D)
4. %ad (B), (C) 3R (D)

Options :



68019150869. 1
68019150870. 2
68019150871. 3

68019150872. 4

Question Number : 19 Question Id : 68019112894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
AIDS i1s....

. Achieved Immuno Defeciency Syndrome
. Acquired Immuno Deficiency Syndrome
. Acquired Immuno Disease Syndrome

. Achieved Immuno Declining Syndrome

|

L]

.

Options :

68019150873. 1
68019150874. 2
68019150875. 3

68019150876. 4

Question Number : 19 Question Id : 68019112894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AIDS |

4. 3dies gl fefaa g

Options :

fag B2 —

68019150873. 1
68019150874. 2

68019150875. 3



68019150876. 4

Question Number : 20 Question Id : 68019112895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following National Programmes in the chronological order of its launching
(A) Revised National Tuberculosis Control Programme

(B) National Mental Health Programme

(C) RMNCH+A Programme

(D) National Programme for Control of Blindness

Choose the correct answer from the options below:

1. (D). (B). (A). (C)
2. (A).(B).(C).(D)
3. (D). (C).(B).(A)
4. (B).(C).(D).(A)

Options :

68019150877. 1
68019150878. 2
68019150879. 3
68019150880. 4

Question Number : 20 Question Id : 68019112895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafeiad Iy srisd B wﬁa%i%%mmgmmm H H oIaied B
(A) FET TP qufee faam

(B) YT T IR PRI

(C) RMNCH+A $TdHH

(D) EBEHAI Faav & o wgta sried

=4 f&u T fowed! & 9 981 SR I

1. (D). (B). (A). (C)
2. (A).(B).(C).(D)
3. (D). (C).(B).(A)
4. (B).(C).(D).(A)

Options :



68019150877. 1
68019150878. 2
68019150879. 3

68019150880. 4

Question Number : 21 Question Id : 68019112896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which all of the following are correct?

(A). AIDS 1s a non- communicable disease

(B).The first test done to detect AIDS is ELISA test

(C).Government of India launched National AIDS Control Programme in 1992
(D). In India. the first HIV case was detected 1 1986

Choose the correcr answer from the options given below:

. (A). (B) and (D) only.
. (B). (C) and (D) only.
.(A). (C) and (D) only.
. (A). and (B) only.

o =

e Laa

Options :

68019150881. 1
68019150882. 2
68019150883. 3

68019150884. 4

Question Number : 21 Question Id : 68019112896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafeiad oyl § O Tl HY- ©f Ugdr o -

(A) AIDS U& THHT AT 5|

(B) AIDS &1 9dl @14 & foru fasar 5 aTar Ul URIeur ELISA TI&mr |
(C) HRA TRBR 1992 H AP AIDS g0 SHrichH == fava

(D) HRd H HIV & Ygdl 91Hdl 1986 H I A1 Ul

- feu U 9@ el O 9§ 981 SR I |

1. %ad (A), (B)3IR (D)

2. %ad (B). (C) 3R (D)
3.%4d (A). (C) 3R (D)
4. %ad (A), 3R (B)

Options :

68019150881. 1
68019150882. 2
68019150883. 3

68019150884. 4

Question Number : 22 Question Id : 68019112897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
{Author/ Expert) (Book/ Idea/ Concept Proposed)
A |CEA Wimnslow | I |Social Medicine

B. |Grotjahn II. |A Treatise of the Scurvy
C. |James Lind II1. |On the Mode of Communication of Cholera
D. |John Snow IV, |Definition of Public health

Choose the correct answer trom the options given below:

L. (A) - (II). (B) - (I). (C) - (III). (D) - (IV)
2. (A) - (IV). (B) - (II). (C) - (I). (D) - (III)
3.(A)-(I). (B) - (II). (C) - (IV). (D) - (III)
4. (A) - (IV), (B) - (1), (C) - (II), (D) - (I1I)

Options:
68019150885. 1
68019150886. 2

68019150887. 3



68019150888. 4

Question Number : 22 Question Id : 68019112897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 el 11 8 e iy
I 1I
H‘;ﬁ mﬁﬂﬁ%ﬁﬁm
A Lmﬁfﬂfﬁ 1. [arfes fafe
B. [Hlea IL. |%hdl &1 Ueh 4y
c. [ fes 11 |8 & 9aR & aild 1Y
D. [FH &l IV. | Grde® W@ &1 gy

Fafeiad [deedl & 3 9t 3u &1 99 S ;

- (A) - (I1). (B) - (I). (C) - (III). (D) - (IV)
A(A)-(IV). (B) - (II). (C) - (I). (D) - (III)
(A) - (I). (B) - (ID). (C) - (IV). (D) - (IIT)
4.(A) - (IV).(B) - (I). (C) - (II). (D) - (III)

o =

Taa

Options :

68019150885. 1
68019150886. 2
68019150887. 3

68019150888. 4

Question Number : 23 Question Id : 68019112898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The Indian Research Fund Association was later known as....

1. ICMR

2. NIMR

3. All India Institute of Hygiene and Public Health
. Indian Rural Health Institute

h &

Options :



68019150889. 1
68019150890. 2
68019150891. 3

68019150892. 4

Question Number : 23 Question Id : 68019112898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR S8 (1Y 99 o1 are § Hafdafad © 9 fog =mm 3 S 72

1. ICMR

2. NIMR _

T YRAT W3 dl 3R Tdai-d Wy I'
4. RO ATHI0 Wareg SR

Options :

s

68019150889. 1
68019150890. 2
68019150891. 3
68019150892. 4

Question Number : 24 Question Id : 68019112899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Commumnity diagnosis means

1. Quantifying and summarising the important health problems and their associated socio -
demographic characteristics in a community

2. Priority wise Listing of the common diseases seen i a community

3. Summarising the standards of living and lifestyle factors in a community

4, Identifying diseases prevalant i a commumity and ranking it as per community's priorities

Options :
68019150893. 1
68019150894. 2



68019150895. 3
68019150896. 4

Question Number : 24 Question Id : 68019112899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e e @1 o Fefafea d e @ g -

1. 0% 94ETg H Ay W SURs R 34 Ss! SIHIo-oriRe i fagvars
B T SR YR

2. J1ETg H S S el ST Simigi ol Wi & HYR R g

3. U 94T ¥ Gilad &R 3R Sifad Udll & SRP| 1 R

4. Tl e § vaferd X711 @1 Ig A S SR ST ® WufHdats & o ER 3
Yuflag P

Options :

68019150893. 1
68019150894. 2
68019150895. 3

68019150896. 4

Question Number : 25 Question Id : 68019112900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST1I LISTII
(Concept/ Goal) (Component/ Year)
A |Pomary Health Care Approach| 1. |Sub centre
B. |National Health Policy II. |Intersectoral Coordination
C. |Primary Level of Health Care |IIL |1978
D. |Health for All Goal IV. 12017

Choose the correct answer from the options given below:

1. (A) - (D). (B) - (I). (C) - (IV). (D) - (IIT)
2. (A)-(I). (B) - (IV). (C) - (D). (D) - (IIT)
3.(A) - (D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (I)

Options :

68019150897. 1
68019150898. 2
68019150899. 3
68019150900. 4

Question Number : 25 Question Id : 68019112900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 9= 11 9 e Siforn
AT

AHTURN/ AT ﬂgf;%
WS Wl cEYd SPau| L [Sud=s
AP @ Hifd 11 | SfcRaHta gaaa
TRy CEYTe o] MYHe T | 101 (1978
it & fore wareg @em v 2017

FafeiEd [deedl § U 9el 3a &1 994 S ;

L. (A) - D). (B) - (I). (C) - (IV). (D) - (IIT)
2.(A) - (II). (B) - (IV). (C) - (D). (D) - (II)
3.(A)-(I). (B) - (II). (C) - (IV). (D) - (III)
4.(A) - (IIT). (B) - (IV). (C) - (D). (D) - (II)

P

Ol | "

Options :

68019150897. 1



68019150898. 2
68019150899. 3

68019150900. 4

Question Number : 26 Question Id : 68019112901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statistical test 1s used for a bivariate analysis when both the variables are
categorical?

1. Unpaired t-test

2. Paired t-test

3. Analysis of Variance (ANOVA)
4. Chi-square test

Options :

68019150901. 1
68019150902. 2
68019150903. 3

68019150904. 4

Question Number : 26 Question Id : 68019112901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fafafad ¥ 3 fog giferetg adtem &1 3uui i faveyw & fou foa o & & g
R INEG A &

1. I t- TR

2. G+ TRI&

3. fo9e &1 Ay (ANOVA)
4, BI5-aT WI&0

Options :
68019150901. 1

68019150902. 2



68019150903. 3
68019150904. 4

Question Number : 27 Question Id : 68019112902 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statistical test 1s most suited for a continous variable where data 1s
collected before and after an intervention?

1. Unpaired t-test

2. Paired t-test

3. Chui-square test

4. Standard deviation

Options:

68019150905. 1
68019150906. 2
68019150907. 3

68019150908. 4

Question Number : 27 Question Id : 68019112902 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frfeiad o 9 & 1H o wiRers i Tie U FRaR 2R & oy 968 SUge 8 el swiau g
Tedl AR &1 T sl U fooar o 82

1. I t- T

2. G t- TRTeOT

3. 29 (Chi-square) TRl
4. TS fq=e

Options :

68019150905. 1
68019150906. 2
68019150907. 3
68019150908. 4



Question Number : 28 Question Id : 68019112903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following graph 1s best suited to show the trend of events with time?

. Pie chart

. Scatter plot

. Histogram

4. Line diagram

faa -2 —

Options :

68019150909. 1
68019150910. 2
68019150911. 3
68019150912. 4

Question Number : 28 Question Id : 68019112903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

?H%T@Hﬁ@mﬁriw&@m TG & Y ge131t Bf Ugfd oI oM & o I8 Sugad
1. O78 Y o

2. fdaR-fdaR serg

3. Ui e
4. 31 3G

Options :

680191509009. 1
68019150910. 2
68019150911. 3
68019150912. 4

Question Number : 29 Question Id : 68019112904 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Quarantine in Public Health includes limitation of freedom of movement of which of the
following groups?

1. Patients currently suffering from mfectious disease
2. Patients who have been hospitalised

3. Healthy individuals not exposed to disease

4, Healthy individuals exposed to disease

Options :

68019150913. 1
68019150914. 2
68019150915. 3
68019150916. 4

Question Number : 29 Question Id : 68019112904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wﬁ;wﬁ@ﬁuﬁ%&@aﬁ@%waﬁ%ﬁmﬁﬂﬁw
M 57

1. T 1 A S 9N 3 difsd ©
2. 3RATa § Hall gU IR

3. W ST ol SR & WU J el 3 &
4. 5191 & ua § 37 Tl W Al

Options :

68019150913. 1
68019150914. 2
68019150915. 3

68019150916. 4

Question Number : 30 Question Id : 68019112905 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which of the following is an anti-larval measure for mosquito control?

1. Space spray

2. Gambusia fish

3. Insecticide impregnated bednets
4. Mosquito repellant creams

Options :

68019150917. 1
68019150918. 2
68019150919. 3
68019150920. 4

Question Number : 30 Question Id : 68019112905 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafaa & 9 -9 Fda a1 & fou gl Sum 82

1. T {3s®1a

2. TR gl
3. PleATE Yaltd OsgigHl
4. T3 fowv® ®ig

Options :

68019150917. 1
68019150918. 2
68019150919. 3

68019150920. 4

Question Number : 31 Question Id : 68019112906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Pneumoconiosis 1s an occupational disease that affects

. Heart
. Liver
. Lung
4. Bram

Options :

b =

L]

68019150921. 1
68019150922. 2
68019150923. 3

68019150924. 4

Question Number : 31 Question Id : 68019112906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HDIIR U g 49Kl § S HafaRad 3 4 63 uuIiad ol 52

1. gad

2. 9%d

3. Bmgl

4. AT
Options:
68019150921. 1
68019150922. 2
68019150923. 3

68019150924. 4

Question Number : 32 Question Id : 68019112907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s a nominal variable?

1. Blood sugar level
2. Temperature

3. Mother-tongue

4. Cost of a cup of tea

Options :

68019150925. 1
68019150926. 2
68019150927. 3

68019150928. 4

Question Number : 32 Question Id : 68019112907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
fAaffad 5 ¥ &9 91 U TTHaE TR 82

1.3ad § Y B TR

2. d9HHE

3. HIGHTHT

4. U HY 91U &l HIEd
Options :
68019150925. 1
68019150926. 2
68019150927. 3

68019150928. 4

Question Number : 33 Question Id : 68019112908 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The timeline to achieve WHO goal of Health for All' was set for the year

. 1948
. 2000
. 2015
4. 2030

Options :

| R

L]

68019150929. 1
68019150930. 2
68019150931. 3

68019150932. 4

Question Number : 33 Question Id : 68019112908 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafed o 9 frg 9 & fo wHO & Teg gt o oy wre @i Ui B &1 qwgsia
BEIGERIERR

. 1948
. 2000
. 2015
4.2030

Options :

Taa I

68019150929. 1
68019150930. 2
68019150931. 3
68019150932. 4

Question Number : 34 Question Id : 68019112909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The first international conference on health promotion which resulted in proclamation of a
Charter for Health Promotion was held in 1986 at

1. Alma Ata
2. Geneva
3. Jakarta
4. Ottawa

Options :

68019150933. 1
68019150934. 2
68019150935. 3
68019150936. 4

Question Number : 34 Question Id : 68019112909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e | ¥ ford ey Hae R Uge SieRIyE Feie gaf o, b TRumaey
A ot & o0 U IRy Pl GIu 1086 H Sfraiieid 31 75 4 2

1. 3T 3l
2. fomar
3. Il
4. 3Tl

Options :

68019150933. 1
68019150934. 2
68019150935. 3

68019150936. 4

Question Number : 35 Question Id : 68019112910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Noise pollution 15 measured mn units of

1. Lux

2. Decibels
. Candella
4. mg/L

L]

Options :

68019150937. 1
68019150938. 2
68019150939. 3

68019150940. 4

Question Number : 35 Question Id : 68019112910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@ YU B FEfRad § ¥ 69 gorgdl # A oidi g 2

Options :

68019150937. 1
68019150938. 2
68019150939. 3
68019150940. 4

Question Number : 36 Question Id : 68019112911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the range i the following dataset?
42.50.44.38.35.45

.42 10 45
.35 to 50
3.42to 44
4.42to 33

Options :

|

68019150941. 1
68019150942. 2
68019150943. 3

68019150944. 4

Question Number : 36 Question Id : 68019112911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad siegRH! 1 Um0 &2

42.50,44.38.35.45
42T 45
35950
428 44

4. 42933
Options :

| R

Taa

68019150941. 1
68019150942. 2
68019150943. 3
68019150944. 4

Question Number : 37 Question Id : 68019112912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the mode mn the following dataset?
35.44,33.35,37.44,37 .35

5

|

Taa
g L g T
-] Oh

4.
Options :
68019150945. 1
68019150946. 2
68019150947. 3

68019150948. 4

Question Number : 37 Question Id : 68019112912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafaRad siesrjdl & aga® &1 82
35.44,33.35.37.44,37.35

fag b2 —

e g Laa T
-] Oh =l

L

Ln

4.
Options :
68019150945. 1
68019150946. 2
68019150947. 3

68019150948. 4

Question Number : 38 Question Id : 68019112913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following global health imtiatives from the oldest to most recent one
(A). Sustainable Development Goals

(B). Primary Health Care

(C). Millennium Development Goals

(D). Health for All

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (B). (D). (C). (A).
3. (B). (C). (D). (A).
4. (D). (B). (C). (A).

Options :

68019150949. 1
68019150950. 2
68019150951. 3

68019150952. 4

Question Number : 38 Question Id : 68019112913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafefad afye @Ry ygdl o 998 I 8 0P 3fd 00 51 4@l H Faield He-
(A) Tad f[deg T

(B) WIUMH® WY SEHd

(C) Tedlsa] fadhr eg

(D) I+ & fou W@y

4 fau e fased! 4 9 98 I

Options :

68019150949. 1
68019150950. 2
68019150951. 3
68019150952. 4



Question Number : 39 Question Id : 68019112914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The stages in life history of mosquito are listed. Arrange them in order
(A). Adult

(B). Egg

(C). Pupa

(D). Larva

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (B). (C). (D). (A).
.(B). (D). (C). (A).
(D). (C). (B). (A).

e g

Options:

68019150953. 1
68019150954. 2
68019150955. 3

68019150956. 4

Question Number : 39 Question Id : 68019112914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hwﬁ?ﬂwm%wﬁaﬁmmﬂm%ﬁwﬁm@mﬁ-
(A) Hlg

(B) 33T

(C) DI 3Tl

(D) mal

- f4u e fosedl § O 98l SR 3|

1. (A). (B). (C). (D)
2. (B). (C). (D). (A)
3. (B). (D). (C). (A)
4. (D), (C), (B). (A)

Options :
68019150953. 1
68019150954. 2



68019150955. 3
68019150956. 4

Question Number : 40 Question Id : 68019112915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following are some of the basic steps in conducting a Randomised Controlled Trial (RCT).
Arrange them in order

(A). Randomisation

(B). Drawing up a protocol

(C). Intervention or manipulation

(D). Assessment of outcome

Choose the correct answer from the options given below:

1. (D). (B). (C). (A).
2. (B). (D). (A). (C).
3. (B). (A). (D). (C).
4. (B). (A). (C). (D).
Options :

68019150957. 1
68019150958. 2
68019150959. 3
68019150960. 4

Question Number : 40 Question Id : 68019112915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019150957. 1
68019150958. 2
68019150959. 3

68019150960. 4

Question Number : 41 Question Id : 68019112916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Diastolic blood pressure readings of four patients are given below. Arrange them according to
increasing median diastolic blood pressure (least median first)

(A). 83.71.81.79.71

(B). 90.83,75.90.89

(C). 70,72,87,7587

(D). 75.84.81.95.95

Choose the correct answer from the options given below:

L. (B). (D). (C). (A).

2.(C). (A). (D). (B).

3. (A). (C), (B). (D).

4.(A), (C). (D). (B).
Options :

68019150961. 1
68019150962. 2
68019150963. 3
68019150964. 4



Question Number : 41 Question Id : 68019112916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR ATl & SR Tam o 01 e 61 715 § 1 8% Sed B SR
Y (BH Y $H TS Ugd dP) D 3HTHR Faiyd &I

(A) 83.71.81.79.71

(B) 90.83.75.90.89

(C) 70.72.87.75.87

(D) 75.84.81.95.95
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Options :

68019150961. 1
68019150962. 2
68019150963. 3

68019150964. 4

Question Number : 42 Question Id : 68019112917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are probability sampling methods?
(A). Simple random sampling

(B). Systematic random sampling

(C). Stratified random sampling

(D). Purposive sampling

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

L]

Options :

68019150965. 1



68019150966. 2
68019150967. 3

68019150968. 4

Question Number : 42 Question Id : 68019112917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafaiad @ 9 1 9l STl 1Rl fafdai g2
(A) IR TEf=sD THATDI]

(B) A& UTefwsd FIATDRU]

(C) TRIpd UEf=se FHATH]

D) AR

-4 feu e fosedl 3 9§ 95l SR g |

1. %ad (A). (B) 3R (D)
2.%ad (A). (B) 3R (O)
3. (A). (B). (C) 3R (D)

4.%ad (B), (C) 3R (D)

Options :

68019150965. 1
68019150966. 2
68019150967. 3

68019150968. 4

Question Number : 43 Question Id : 68019112918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following studies are observational 7
(A). Casze-control study

(B). Cohort study

(C). Randomised Controlled Trial

(D). Non-randomised Trial
Choose the correct answer from the options given below:

1. (A). (C) and (D) only.
2. (A). (B) and (C) only.
3. (A) and (B) only.

4. (A). (B) and (D) only.

Options :

68019150969. 1
68019150970. 2
68019150971. 3
68019150972. 4

Question Number : 43 Question Id : 68019112918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frgfafad & 9 &1 91 3y adid- Sath g2
(A) WHRUL0=07 Heggq
(B) THE HLTH
(C) Urel=sa HafEd gdiem
(D) TR Aref=sd Ufam
- feu e o el O 9§ 981 S I |
1. %ad (A), (C) 3R (D)

2. 9ad (A). (B) AR (C)
3.%dd (A) 3R (B)
4. %ad (A), (B) 3R (D)

Options :

68019150969. 1
68019150970. 2
68019150971. 3

68019150972. 4



Question Number : 44 Question Id : 68019112919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are measures of variation (dispersion)?
(A). Mean

(B). Standard deviation

(C). Range

(D). Mean deviation

Choose the correcr answer trom the options given below:

. (A) and (B) only.
. (A). (B) and (D) only.
.(B) and (D) only.
4.(B). (C) and (D) only.

a =

Taa

Options:

68019150973. 1
68019150974. 2
68019150975. 3

68019150976. 4

Question Number : 44 Question Id : 68019112919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frgfafad ¥ ¥ 14§ ulgda & |3194 (haE) 22
(A) |18

(B) HH® fdda-

(C) 9T

(D) HIeH fageH

- fau e fdsedl O 9 el SR 34|

1. %4d (A) AR (B)
2.%ad (A). (B) 3R (D)
3.%4dd (B) 3R (D)
4. %4d (B). (C) 3R (D)

Options :

68019150973. 1

68019150974. 2



68019150975. 3
68019150976. 4

Question Number : 45 Question Id : 68019112920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are occupational diseases?

(A). Silicosis

(B). Sickle cell anaemia

(C). Byssinosis

(D). Thalassemia

Choose the correcr answer trom the options given below:

.(A). (B) and (D) only.
. (A) and (C) only.

. (A). (B). (C) and (D).
4. (A). (B) and (D) only.

I =

L]

Options:

68019150977. 1
68019150978. 2
68019150979. 3

68019150980. 4

Question Number : 45 Question Id : 68019112920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafad & 9 o9 € aeaiis W2
(A) Tl

(B) Fda SifreT uHifhan

(C)

(D)

i feu U fae el o 9 gel 3w I

1. %ad (A). (B) 3R (D)
2. %dd (A) 3R (C)
3.(A). (B). (C) 3R (D)
4. %ad (A). (B) 3R (D)

Options:

68019150977. 1
68019150978. 2
68019150979. 3

68019150980. 4

Question Number : 46 Question Id : 68019112921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following sources include data collection at the household level?
(A). Census

(B). National Family Health Survey

(C). Hospital records

(D). National Sample Survey

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A) and (D) only.
3. (A). (B). (C) and (D).
4. (A) and (B) only.

Options :

68019150981. 1
68019150982. 2
68019150983. 3

68019150984. 4



Question Number : 46 Question Id : 68019112921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeiad o 9 fod gid H ol TR | fios] 998 i 82
(A) STITO]

(B) XIPTY URGR TR Fdeul

(C) 3UdTd & feifdeg

(D) T AT Fael0l

- fau e ool O 9§ 981 SR I |

1. %ad (A). (B) 3R (D)
2.%ad (A) AR (D)

3. (A). (B). (C) 3R (D)
4. %ad (A) 3R (B)

Options :

68019150981. 1
68019150982. 2
68019150983. 3

68019150984. 4

Question Number : 47 Question Id : 68019112922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Exposure) (Disease)
A |Cotton dust I |Byssinosis
B. |Asbestos II. |51licosis
C. |5ilica III. |Asbestosis
D. |Hayv or grain dust| IV. |Farmer's lung

Choose the correcr answer from the options given below:

. (A) - (II). (B) - (IV). (C) - (IT). (D) - (I)
(A) - (I). (B) - (IID). (C) - (I). (D) - (IV)
-(A) - (I1). (B) - (1I1). (C) - (I). (D) - (IV)
(A) - (IV). (B) - (IIT). (C) - (I). (D) - (I)

|

e g



Options :

68019150985. 1
68019150986. 2
68019150987. 3
68019150988. 4

Question Number : 47 Question Id : 68019112922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 1 1 A1 11 ¥ e Sife
g1 g I
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faferaT 111 [T
T T1 31 @1 4| IV, |feam= @1 hwa

frafaiad [aeedl 4 el 3o &1 994 SIfoil

- (A) - (D). (B) - IV). (C) - (II). (D) - (I)
(A) - (I).(B) - (IIT). (C) - (II). (D) - (IV)
. (A) - (ID). (B) - (IIT). (C) - (I). (D) - (IV)
4. (A) - (V). (B) - (D). (C) - (I1). (D) - (I)
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Options :

68019150985. 1
68019150986. 2
68019150987. 3
68019150988. 4

Question Number : 48 Question Id : 68019112923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
(Indicator) (Denominator)
A Specific death rate due to I Total number of COVID-19
" |tuberculosis " |cases

B. |Specific death rate for males | II. |[Mid-vear population

C Case fatality rate for 1 Mid-vear population of
C|COVID-19 " |males

D Specific death rate in age v Mid-vear population of
" lgroup 13-19 vears " |persons aged 15-19

Choose the correcr answer from the options given below:

1. (A) - (). (B) - (IV). (C) - (IlT). (D) - (II)
2. (A) - (I). (B) - (). (C) - (II). (D) - (IV)
3.(A)-(IV). (B) - (ITT). (C) - (I). (D) - (II)
4. (A) - (II). (B) - (IT). (C) - (I). (D) - (IV)

Options :

68019150989. 1
68019150990. 2
68019150991. 3

68019150992. 4

Question Number : 48 Question Id : 68019112923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il 1 1 gl 11 9§ e ifoe

a1 ﬁn
___ () ,

A lTUiF s PRUMGREIER | L [$Ifds-19 AM & o =
B. |qoui & fog o gg @ 1. [AD-qY B S-ee

C. [@ifag- 19 p A H g &R 111 Q%01 &1 5.4 Bl S
D. [HG T 15-19 961 § AP g 3| IV, [15-19 1Y T & Hicadl & HE-T8 B SHEEA
faferiad fdeeal o 9 9gt SR &1 994 ST .

L (A)-(I).(B) - (IV).(C) - (II). (D) - (II)

2. (A) - (D). (B) - (111, (C) - (II). (D) - (IV))

3.(A) - (IV). (B) - (IIT). (C) - (1). (D) - (II)

4.(A) - (ID). (B) - (IIT). (C) - (I). (D) - (IV)



Options :

68019150989. 1
68019150990. 2
68019150991. 3
68019150992. 4

Question Number : 49 Question Id : 68019112924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Study design) (Analytical outcome)
A Case—contml-studj' I |Relative risk
B. |Cohort study II. |Time, place, and person distribution
C. |Cross-sectional study| III. |Odds ratio
D. |Descriptive study IV. |Prevalence

Choose the correct answer from the options given below:

(A) - (IID). (B) - (I). (C) - (IV). (D) - (II)
. (A) - (D). (B) - (IV). (C) - (I). (D) - (III)
(A) - (IV). (B) - (III). (C) - (I). (D) - (I)
. (A) - (I). (B) - (IIT). (C) - (IV). (D) - (II)

fas b2 —

=

Options :

68019150993. 1
68019150994. 2
68019150995. 3
68019150996. 4

Question Number : 49 Question Id : 68019112924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - II). (B) - (I). (C) - V). (D) - (II)
2.(A) - (II). (B) - (IV). (C) - (D). (D) - (II)
3.(A) - (IV). (B) - (IT). (C) - (IT). (D) - (I)
4. (A) - (D). (B) - (ID). (C) - (AV). (D) - (II)

REE

Options :

68019150993. 1
68019150994. 2
68019150995. 3
68019150996. 4

Question Number : 50 Question Id : 68019112925 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI
(Screening test
outcome)

LISTII
(Meaning)

I Person does not have disease and
" |screening test result is positive

A |True-positive

: Perzon does not have disease and
B. |True-negative IT. ; : _
screening test result 1s negative

Person has disease and screening test

C. |False-positive 111 : ;
result 15 negative

Person has disease and screening test

D. |False-negative V. ; il
= result 1s positive

Choose the correct answer from the options given below:

L. (A) - (I). (B) - (II). (C) - (III). (D) - (IV)
2.(A) - (IV). (B) - (IT). (C) - (IIT). (D) - (I)
3.(A) - (V). (B) - (I). (C) - (I). (D) - (III)

4. (A) - (V). (B) - (I11). (C) - (1). (D) - (II)
Options :
68019150997. 1
68019150998. 2
68019150999. 3

68019151000. 4

Question Number : 50 Question Id : 68019112925 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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B. [0 ToRES | 1L (g & 13 sTHRI T81 & 3R S wie &1 uRumd TeRES §
C. [Tad-TeRHS | 1L [l & SR § 2R 9 Uiie &1 IR TERIAS &
D. [TTad-ASRIES | IV, [afdd @i dHR] & iR 9 Wi &1 URuHE 96RIED §

FefaRad fameal J 9 98t SR &1 98- Difo -

&
l

(A)-(I).(B)-(I
(A)-(IV). (B) -
3.(A)-(IV).(B) -
4.(A)-(IV). (B) -

(€)-d

) (D) - (IV
(C) -
(C) -

). )
(II). (D) - (I)
(I). (D) - (1)
)

I
(
(
(II). (C) - (I). (D) - (II

X
),
).
I
Options :
68019150997. 1
68019150998. 2
68019150999. 3

68019151000. 4

Question Number : 51 Question Id : 68019112926 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

(Bl dlilis Thl Vel LISE AR
G u;'; s (Effects on brain)
A Poor muscle coerdmnation and impaired
A 10.02 I.
self-control,
B. |0.08 II. |Confusion, disorientation
C. |0.20 III. |Loss of judgment, altered mood
D |040 IV. |Lethal dose

Choose the correcr answer trom the options given below:

(A)- (D). (B)-(II). (C) - (II). (D) - IV)
- (A) - (). (B) - (IID). (C) - (II). (D) - (IV)
. (A) - (II0). (B) - (D). (C) - (AI). (D) - (AV)
(A) - (D). (B) - (ID). (C) - (). (D) - (IV)

I\_.ll—l

-I;L’-u



Options :

68019151001. 1
68019151002. 2
68019151003. 3
68019151004. 4

Question Number : 51 Question Id : 68019112926 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il 1 1Y 1 9 e Dife
321 A 11
LECk] BT TR% feamM R o
A 002 L [#iofEE & wRE 999y iR favrsT gaf - fAgEm,
B. [0.08 1L (Y7 yep@
c. l0.20 1L oG @t g1, A-iGan J uRadH
D. [0.40 V. [g1d® T®
FafeRad fdeedl § U I8! IR &1 944 iy ;

1. (A) - (I). (B) - (I). (C) - (IIT). (D) - (IV)
2.(A)- (D). (B) - (IID). (C) - (II). (D) - (IV)
3.(A) - (IID). (B) - (D). (C) - (IT). (D) - (IV)
4. (A) - (IID). (B) - (II). (C) - (I). (D) - (IV)

Options :

68019151001. 1
68019151002. 2
68019151003. 3
68019151004. 4

Question Number : 52 Question Id : 68019112927 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

oy T LISTII
(Dietary Reference A
Intake)
the highest average daily nutrient
intake levels that are likely to pose no
Fecommended risk of toxicity to almost all healthy
A e | i e 2 _ 2
Dietary Allowances individuals of a particular population
group.
ranges of intakes set for the energy-
Chronic Disease yielding nutrients that are sufficient
B. |Risk Reduction II. |to provide adequate total energy and
Intakes nutrients while minimising the risk of
chronic diseases.
the average dailv nutrient intake level
. |Tolerable Upper that meets the needs of nearly all (97
L II1. :
Intake to 98 percent) healthy people in a
particular sex and life stage group
Acceptable levels of nutrient intake associated
D. |Macronutrient IV, |with
Distribution Eanges low risks of chronic diseases

Choose the correcr answer from the options given below:

(A) - (I). (B) - (I1), (C) - (TIT), (D) - (IV)
. (A) - (I). (B) - (IIT). (C) - (II). (D) - (IV)
(A)-(I). (B) - (IT). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (1)

g b3 —

Options :

68019151005. 1
68019151006. 2
68019151007. 3

68019151008. 4

Question Number : 52 Question Id : 68019112927 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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B. [@Hi gH @ 11 |UeH &3 o e ggitd Sl tal

ElircE] ¥ del IS dedl & fag FeiRa
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) 3T e UIve o YaT TR S
o [FEEHTE | | R fT SR S RO e o
- [ud Had [T | (97 | 98 HfcRIe) WY
TN @1 SIEd| & R 6dl ©
ikl Sl &
: &9 g @1 wifad
B ﬁﬂa i oS UlY® dadl & Ha- Bl WX
fFrafarad fameal H I el SR &1 99 DIfol :

1. (A) - (). (B) - (II). (C) - (III). (D) - (IV)
2.(A)-(1). (B) - (). (C) - (II). (D) - (IV)
3.(A)-(1). (B) - (). (C) - (IV). (D) - (II)
4. (A) - (). (B) - AV). (C) - (I). (D) - (II)

Options :

68019151005. 1
68019151006. 2
68019151007. 3

68019151008. 4

Question Number : 53 Question Id : 68019112928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A day’s meals provide 50 grams of protein. Calculate the calories contributed by protein.

. 200
. 350
. 250

4. 300
Options :

L S

68019151009. 1
68019151010. 2
68019151011. 3

68019151012. 4

Question Number : 53 Question Id : 68019112928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U o= &1 YIS 50 99 U USH aedl ¢ WIH gRI GNGH @1 115 daR! Bl T0HT $Hi |

. 200
. 350
. 250

4,300
Options :

Taa I

68019151009. 1
68019151010. 2
68019151011. 3

68019151012. 4

Question Number : 54 Question Id : 68019112929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange following parasites in order of increasing incubation period for occurence of symptoms
m human

(A). Falciparum malaria

(B). Vivax malaria

(C). Quartan malaria

(D). Ovale malaria

Choose the correet answer from the options given below:

Options :

68019151013. 1
68019151014. 2
68019151015. 3

68019151016. 4

Question Number : 54 Question Id : 68019112929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

o4 § @& & 55 & o0 SIe 3aft ag & $H § e Wiyl of ararud
B

(A) T Fafe

(B) faday #afa

(C) BTeA Hafr

(D) igd Hailal

Tl feu U foded! 3 9 981 SR T |

Options :

68019151013. 1
68019151014. 2
68019151015. 3

68019151016. 4



Question Number : 55 Question Id : 68019112930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following 1s true of Yellow Fever Vaccine

(A). Live attenuated, lyophilized (freeze dried) vaccine
(B). Hasl7D stramn

(C). After reconstitution must be used within 6 hour

(D). Validity of Vaceination Certificate after 10 days
Choose the correct answer trom the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only
(A). (B). (C) and (D).
4. (B). (C) and (D) only.

L]

Options:

68019151017. 1
68019151018. 2
68019151019. 3

68019151020. 4

Question Number : 55 Question Id : 68019112930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uid o APl & R H FEiiRad HUEl 1 Ue. 3R T Y- &1 UgdH &e-
(A) STa &0 TR &1, A 3iihass (Wi 5) Tl

(B) rm’a-@%f%‘

(C) T3 & d15 6 He¢ & Hidr IuanT fear S 91fey

(D) SARTPTG AT & oY SeBTehRu1 FHIUIGA B aerdl 10 &7 & a1g

- f3U T fasedl & 9 el SR IH|

1. %ad (A), (B) 3R (D)
2.%ad (A), (B) 3R (C)
3.(A). (B). (C) R (D)
4. %ad (B), (C) 3R (D)

Options :

68019151017.1



68019151018. 2
68019151019. 3

68019151020. 4

Question Number : 56 Question Id : 68019112931 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
{Disease) (Herd immunity threshold)
A |Pertussis I. |92-94%
B. |[Measles II. |75-86%
C. |Mumps ITI. |83-94%
D. |Rubella IV. |80-85%

Choose the correct answer from the options given below:

(A) - (I). (B) - (I). (C) - (III). (D) - (IV)
(A) - (I). (B) - (ITD). (C) - (II). (D) - (IV)
(A) - (I). (B) - (II). (C) - (IV). (D) - (ITT)
A(A) - (). (B) - (IV). (C) - (I). (D) - (II)

fas b2 —

e

Options:

68019151021. 1
68019151022. 2
68019151023.3

68019151024. 4

Question Number : 56 Question Id : 68019112931 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! 11 i 11 F e wifore

B et
SIS ufdvar S

A [ca) DpTEE | L [(D). 92-94%

B. [@9q I |75-86%

C. [TTegan 111 |83-94%

D. [SHAEET |1V, |80-85%

Fafeiad fddedi & ¥ 9t ST &1 99 Bl ;

L. (A) - (I}, (B) - (IT), (C) - (IIT), (D) - (IV)
2.{A)-(1),(B) - (II), (C) - (II), (D) - {IV)
(A) - (I). (B) - (ID). (C) - (IV). (D) - (III)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

L)

Options :

68019151021. 1
68019151022. 2
68019151023. 3
68019151024. 4

Question Number : 57 Question Id : 68019112932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Vaccine) (Strain(s))
BCG [. |Jeryll Lynn strain

Meazlez vaccine | II. |OKA strain

=

Mumps vaccine | III. |Danish-1331 strain

g0«

WVaricella vaccine| IV. |Edmonston Zagreb strain

Choose the correct answer from the options given below:

1. (A)-(I). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (D), (B) - (I1I), (C) - (IT), (D) - (IV)
3. (A) - (I). (B) - (II). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019151025. 1



68019151026. 2
68019151027. 3

68019151028. 4

Question Number : 57 Question Id : 68019112932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 ¥ e Sifu

ik B
BCG 1 [wifRe fod fasfa
EIRT @1 S | 11 |oKA [adfd
U BT CIDl |11 [SHR-1331 [dpld
AR di@r | 1v s e faafd

fFafafad faweal & O 98t SR &1 9ga Sifo .

1. (A) - (I). (B) - (II). (C) - (III). (D) - (IV)
2. (A) -1} (B) - (1), (C} - (II), (D) - (IV)
3.(A) - (I), (B) - (I1). (C) - (IV). (D) - (IIT)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

=

gl0|w

Options :

68019151025. 1
68019151026. 2
68019151027. 3

68019151028. 4

Question Number : 58 Question Id : 68019112933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Reference Interval for Sperm characteristics in semen associated with fertility are
(A). 14% or more have normal morphology

(B). 75% or more are alive

(C). 10 = 106 sperm per mL

(D). 50% or more with moderate to rapid linear (forward) progression

Choose the correct answer trom the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019151029. 1
68019151030. 2
68019151031. 3
68019151032. 4

Question Number : 58 Question Id : 68019112933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o & 9 oo did § YeeTy] fa=ivdrsl & fou ey Siavid o
(A) 14% TT 3T 3fiF JHM Npid AT @
(B) 75% U139 ¥ oiifdd ©
(C) 10 = 106 YehTY] Ufd mL
(D) HOH I I IR (3MAT) Wi & 1Y 50 % T AP
- feu e o el O 9§ 981 SR 9|
1. %ad (A), (B) 3R (D)
2.%ad (A), (B) 3R (C)

3. (A), (B), (C) aﬁ? (D)
4.%ad (B), (C) 3R (D)

Options :

68019151029. 1
68019151030. 2
68019151031. 3

68019151032. 4



Question Number : 59 Question Id : 68019112934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

When viewing a focused specimen in the microscope, the user sees a speck in the field of view.
The speck remains in view when the objective 1s changed and when the specimen 1s moved. The
speck 18 most likely located on the

1. condenser

2. eyepiece.

3. objective.

4. specimen coverslip

Options :

68019151033. 1
68019151034. 2
68019151035. 3

68019151036. 4

Question Number : 59 Question Id : 68019112934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

YeARI T TP Blsd T Bl G4 GHY, SYNTE P oa o & 5 U Ysal (48T Sl o
T SERY T ST § AR W T WA a1 e 8 dt yea €Y H ear €| Y 9ed
P A R R §

1. G ( BT )
2. 3] faaqr I
3. T8

4. -THAT S{Ta0r

Options :

68019151033. 1
68019151034. 2
68019151035. 3

68019151036. 4



Question Number : 60 Question Id : 68019112935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which type of microscopy is able to produce threedimensional images and perform optical
sectioning

1. Brightfield

2. Interference contrast
3. Phase-contrast

4. Polarizing

Options :

68019151037. 1
68019151038. 2
68019151039. 3

68019151040. 4

Question Number : 60 Question Id : 68019112935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

?ﬁ%ﬁﬁﬁﬂaﬁﬁ-mﬁ@ﬁﬁwwwmwﬁwﬁwaﬁww

1. gy 4eH
2. gAY firdn
3. TRULTARIETHY

4, Yl
Options:
68019151037. 1
68019151038. 2
68019151039. 3

68019151040. 4

Question Number : 61 Question Id : 68019112936 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The principle of fluorescence microscopy is based on

. a substance that causes the rotation of polarised light

. differences in the optical light path being converted to intensity differences

. differences i refractive index being converted into variations in light intensity
4. the absorption of light and its subsequent emission at a longer wavelength

| S

L]

Options:

68019151041. 1
68019151042. 2
68019151043.3

68019151044. 4

Question Number : 61 Question Id : 68019112936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

wfadifer gemesi o1 Rgia AffEa 5 3 feu R aneia g 2

1. TP et &l ydidd YepT=1 & quiH &1 BRI &1 §

2. =P fovae U vy # 3R 1 digan 3iak & uRafdd fear e g

3. HadS YaHid § R Bl YT B digan & farsi & aRafdd fmm snyers
4. YT BT AT 3R 3D &3 U dal a1 g W Scqoi

Options :

68019151041. 1
68019151042. 2
68019151043. 3

68019151044. 4

Question Number : 62 Question Id : 68019112937 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which type of microscopy uses a special condenser to direct light onto the specimen from
oblique angles only?

1. Darkfield

2. Interference contrast
3. Phase-contrast
4. Polarizing

Options :

68019151045. 1
68019151046. 2
68019151047. 3

68019151048. 4

Question Number : 62 Question Id : 68019112937 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&0 TR B Yemexll Hae ke B0 S T R a9 &1 8110 S & o U fadiy
JUGR] BT JUUNT el 62

1. 3y eH
2. g% fid
3. UG

4, Yol

Options :

68019151045. 1
68019151046. 2
68019151047. 3

68019151048. 4

Question Number : 63 Question Id : 68019112938 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following diluents should be used when an RBC count 1s requested?

. Dilute acetic acid
. Hypotonic saline
3. Isotonic saline
4. Turk’s solution

I —

Options :

68019151049. 1
68019151050. 2
68019151051. 3

68019151052. 4

Question Number : 63 Question Id : 68019112938 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

RBC [l &1 2RIy o3 W Fofefad o § fod tae o1 3ugnt [Har 9 9y

1. I 3 Pl gaal B
2, BlRUIeI-S @R]
3, Edei-d @RI

4. T 1 GHHH
Options :
68019151049. 1
68019151050. 2
68019151051. 3
68019151052. 4

Question Number : 64 Question Id : 68019112939 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



VVM (Vaceine monitoring vial) 1s used to monitor effectiveness of cold chain, which of the
following is indication NOT to discard the vaccine:

(A). Inner square 1s white

(B). Inner square 1s lighter than outer circle

(C). Inner square darker than the outer circle

(D). Outer circle 1s more dark than inner square

Choose the correet answer from the options given below:

1. (A). (B) and (D) only.

1 (A). (B) and (C) only.

3.(A). (B). (C) and (D).

4.(B). (C) and (D) only.
Options :

68019151053. 1
68019151054. 2
68019151055. 3

68019151056. 4

Question Number : 64 Question Id : 68019112939 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

VVM (GadH AfHeRT i) &1 390 &8 = @ wHaeiiad $1 FIRE & o fear s
¢. Faferad § 9 oF 91 9 © I8 9id1 § o dRiH &1 @ el 91w

(A) st ol g &

(B) IR} & aTe) 97 31 qaT A el ol §

¢) i ot ATt g ot qE H TR

(D) 9T6%) g 3fialve ol @l qu & oifie TR R

ﬁﬁqwﬁwﬂﬁﬁﬂﬁrﬁﬂﬁ

A). (B) R (D)
%ﬂa( )(B)&?N
B).(C) 3R (D
4 W(E) (C)aﬁ?

Options :

68019151053. 1
68019151054. 2
68019151055. 3
68019151056. 4



Question Number : 65 Question Id : 68019112940 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following conditions can result in the excretion of small amounts of occult blood in
the faeces?

(A). Hemorrhoids

(B).Bleeding gums

(C).Peptic ulcers

(D).Intake of iron supplements

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.

2.(A). (B) and (C) only.

3.(A). (B). (C) and (D).

4.(B). (C) and (D) only.
Options:

68019151057. 1
68019151058. 2
68019151059. 3

68019151060. 4

Question Number : 65 Question Id : 68019112940 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrrferieT o & for Rufcr o uRumeRaey met & Ui 0 & 1w X &1 3o gl 9abd 62
(A) §aR

B) TS H G 3

(C) TS 3R

(D) 3G SR &I g

ﬁﬁnwﬁwﬁﬁ%ﬂﬁmﬁ

A), (B) 3R (D)

A), (B) AR (C)
; (A) (B (C) aﬁ?m
4.Hadd (B), (C)

Options :




68019151057. 1
68019151058. 2
68019151059. 3

68019151060. 4

Question Number : 66 Question Id : 68019112941 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per National Immunization Schedule (NIS) of India, arrange the following vaccines to be
administered from birth to ten year of age

(A). DPT

(B). BCG

(€. T

(D). I\IE% es

Choose the correct answer from the options given below:

Options:

68019151061. 1
68019151062. 2
68019151063. 3
68019151064. 4

Question Number : 66 Question Id : 68019112941 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR B P CTPTBRU SFFE! (NIS) & SHTER, 5 & bR 8 aY I g 7 Hefeiiad
il Dl FTaRI e-

(A) DPT

(B) BCG

(C)TT

(D) @

e feu T fowedl | 9§ 981 S T
1. (A), (B). (D), (C)
2.(A).(B).(C).(D)

3. (B). (A), D). (C)
4.(C). (B). (D), (A)

Options :

68019151061. 1
68019151062. 2
68019151063. 3
68019151064. 4

Question Number : 67 Question Id : 68019112942 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following vaccines as per expected frequency of possible minor adverse reaction
mereasing order

(A). BCG

(B). DPT

(C). Oral Polio Vaccine

(D). Hemophilus influenza B

Choose the correct answer from the options given below:

. (A),

|._JI—l
oo
et et
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A
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1.(C), (D). (B).
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—
—

Options :

68019151065. 1
68019151066. 2
68019151067. 3

68019151068. 4



Question Number : 67 Question Id : 68019112942 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Giferd Frelt ufdepd vidfchar @t smiférd sngfi & saR Fafifad dol el sgd va d
AT Pi-

(A) BCG

(B) DPT

(C) OPV

(D) B EY THITH B

T4 fau U fasedi § 9 981 SR |

1. (B)
2. (A)
3.(B)
(C)

(A). (D)
(D)
(€)
(A)

)

Q).
(B).
(A).
(D).

: )
; (C).
: (D).
4. (C). (B).
Options:
68019151065. 1
68019151066. 2
68019151067. 3

68019151068. 4

Question Number : 68 Question Id : 68019112943 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Open vial policy 1s NOT applied to which vaccine

. Hepatitis B

. Liquid pentavalent vaccine
3. BCG vaccine

4. OPV vaccine

Options:

|

68019151069. 1
68019151070. 2
68019151071. 3
68019151072. 4



Question Number : 68 Question Id : 68019112943 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eit <=t =ifq fooa St R an] et 8K © 2
1. gucrsiea df
2. TRd Yerdde Sl
3. BCG Tl
4. OPV CI®
Options :
68019151069. 1
68019151070. 2
68019151071. 3

68019151072. 4

Question Number : 69 Question Id : 68019112944 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following causative organisms for food poisoning with increasing order of
incubation period

(A). Staphylococeal

(B). Salmonella

(C). Cl. peiﬁuwem

(D). Botulism

Choose the eorrect answer from the options given below:

Options :

68019151073. 1
68019151074. 2
68019151075. 3

68019151076. 4



Question Number : 69 Question Id : 68019112944 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HH 3ald & dgd P & FIY W [AuTdddl & (ot FHfiRdd SR ofial &l saaiud
P

(A) Rfradiad

(B) Gred-dl

(C) Cl. WP

(D) SigfersH

2 feu e fowed 5 4 951 SR

Options :

68019151073. 1
68019151074. 2
68019151075. 3

68019151076. 4

Question Number : 70 Question Id : 68019112945 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
(WHO Diagnostic Criteria) (Blood Glucose levels)
A Fasting plasma glucose in diabetic I less than 126
" |patient " |mg/dl
Fasting plasma glucose in Impaired more than 126
B. IT. ;
Glucose Tolerance mg/dl
C 2-hour plasma glucose in Impaired I less than 140
" |Glucose Tolerance " |mg/dL
- : :
D |2 h-::s.ur plasma glucose in Impaired Iv. [140-200 mg/dL
Fasting Glucose

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (I). (C) - (IV). (D) - (1II)
2. (A) - (I), (B) - (II1). (C) - (II), (D) - (IV)

3.(A) - (D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (I)
Options :

68019151077. 1
68019151078. 2
68019151079. 3

68019151080. 4

Question Number : 70 Question Id : 68019112945 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Rea =

WHO AMdS mﬁ@aﬁrm
A |HYHE IRT H Il il bl JUay 126 mg/dl ¥ HH
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(A) - (II). (B) - (I). (C) - (IV). (D) - (IIT)
(A) - (1), (B) - (III). (C) - (II), (D) - (IV)
(A) - (I). (B) - (ID). (C) - (IV). (D) - (III)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

b

L)

Options :

68019151077. 1
68019151078. 2
68019151079. 3
68019151080. 4

Question Number : 71 Question Id : 68019112946 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Indicators for obesity include all. EXCEPT

1. Body Mass Index
2. Ponderal Index
3. Brocea index

4. Breteau index

Options :

68019151081. 1
68019151082. 2
68019151083. 3
68019151084. 4

Question Number : 71 Question Id : 68019112946 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Aield & dddd! | Hyfargd 3 3 94 i 8. Raw sad.
1. TRR YR YIbid
2. QiaRd Gahid
3. ST YAbih
4. Sl gD

Options :

68019151081. 1
68019151082. 2
68019151083. 3
68019151084. 4

Question Number : 72 Question Id : 68019112947 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Average number of hookworm eggs per gram of faeces for the entire community 1s called as

1. Chandler’s Index
2. Breteau Index

3. House index

4. Burrow index

Options:

68019151085. 1
68019151086. 2
68019151087. 3
68019151088. 4

Question Number : 72 Question Id : 68019112947 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019151085. 1
68019151086. 2
68019151087. 3
68019151088. 4

Question Number : 73 Question Id : 68019112948 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nikshay portal is used in which health programme

. Tuberculosis
. AIDS

. Leprosy

4. Malaria

Options :

|

L]

68019151089. 1
68019151090. 2
68019151091. 3

68019151092. 4

Question Number : 73 Question Id : 68019112948 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. qufes®

2. AIDS

3. PEIMA

4. HAilRY
Options :
68019151089. 1
68019151090. 2
68019151091. 3

68019151092. 4

Question Number : 74 Question Id : 68019112949 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Aedes aegypti 1s vector for all diseases. EXCEPT

1. Dengue

2. Chikungunya

. Yellow Fever

4. Japanese Encephalitis

L]

Options :

68019151093. 1
68019151094. 2
68019151095. 3

68019151096. 4

Question Number : 74 Question Id : 68019112949 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

| ]

L]

68019151093. 1
68019151094. 2
68019151095. 3
68019151096. 4

Question Number : 75 Question Id : 68019112950 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Haddon's matrix 1s used for

. Blindness

. Hypertension

. Accidents

4. Chronic Kidney Disease

|

L]

Options:

68019151097. 1
68019151098. 2
68019151099. 3

68019151100. 4

Question Number : 75 Question Id : 68019112950 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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4. S ot A
Options :
68019151097. 1
68019151098. 2
68019151099. 3

68019151100. 4



